

$$g'(u) = (r \tan u (1 + \tan^2 u) + \sqrt{r} \sin u) \times f'(\tan^2 u + \sqrt{r} \cos u) \quad (1)$$

$$g\left(\frac{\pi}{2}\right) = \left(\underbrace{r(1)(r)}_r - 1 \right) \times f'(r) = \sqrt{r} \rightarrow f'(r) = \frac{\sqrt{r}}{r}$$

$$f(u) = \frac{(r + \cos u)(\cos^2 u + \sqrt{r} \cos u + 1)}{(r + \cos u)(r - \cos u)} \rightarrow f \cdot g(u) = \frac{\cos^2 u + \sqrt{r} \cos u}{r - \cos u} = -\cos u \quad (r)$$

$$(f \cdot g)'(u) = \sin u \xrightarrow{u = \frac{\pi}{2}} \sin \frac{\pi}{2} = -\frac{1}{r}$$

$$f_+\left(\frac{r}{\varepsilon}\right) = \lim_{u \rightarrow \frac{r}{\varepsilon}^+} \frac{f(u) - f\left(\frac{r}{\varepsilon}\right)}{u - \frac{r}{\varepsilon}} = \frac{\left(\frac{r}{\varepsilon} - \frac{r}{\varepsilon}\right)\sqrt{a}}{u - \frac{r}{\varepsilon}} = \varepsilon \sqrt{a} \quad (10)$$

$$f_-\left(\frac{r}{\varepsilon}\right) = \lim_{u \rightarrow \frac{r}{\varepsilon}^-} \frac{f(u) - f\left(\frac{r}{\varepsilon}\right)}{u - \frac{r}{\varepsilon}} = \frac{\left(\frac{r}{\varepsilon} - \frac{r}{\varepsilon}\right)\sqrt{a}}{u - \frac{r}{\varepsilon}} = -\varepsilon \sqrt{a}$$

$$\varepsilon \sqrt{a} = \frac{r}{\varepsilon} \rightarrow \sqrt{a} = \frac{r}{\varepsilon^2} \rightarrow a = \frac{r^2}{\varepsilon^4} \rightarrow a = \frac{1}{r} \quad (11)$$

$$f'(\varepsilon) = -a$$

$$f(\varepsilon) = -\varepsilon a + r \rightarrow -2a + r = -1 \rightarrow a = \frac{r}{2} \rightarrow f'(\varepsilon) = -\frac{r}{2} \quad (12)$$

$$g = \frac{u + a}{\sqrt{u}} \quad \frac{u+a}{\sqrt{u}} = \frac{a u - 1}{u+1} \rightarrow \frac{u^2 + 1}{u+1} + \frac{u+a}{\sqrt{u}} = \frac{a u - 1}{u+1}$$

$$u^2 + 1 + (1 - \sqrt{a})u + 1 = 0$$

$$(1 - \sqrt{a})^2 = 2 \times 1 \times 1 \rightarrow 1 - \sqrt{a} = 1 \rightarrow a = \frac{2}{\sqrt{u}}$$

$$1 - \sqrt{a} = -1 \rightarrow a = 2$$

$$a = 2 \rightarrow \frac{u^2 + 1}{u+1} - \frac{u}{\sqrt{u}} + 1 = \frac{u^2 - 2u + 1}{u+1} = 0$$

$$u = 1$$

$$f'(x) = 0 \rightarrow 3x^2 + a \rightarrow a = -12$$

(4)

$$f(x) = 0 \rightarrow 1 - 12(x) - b = 0 \rightarrow b = -12 \rightarrow -12 + 12 = -8$$

(4)

$$n \rightarrow \infty \Rightarrow f(n) \sim x^{2n}$$

$$f'(n) \sim 2nx^{2n-1}$$

$$n = x \rightarrow 2m + n = 0$$

$$\frac{x^n x^{n-1}}{(x/p)^n}$$

$$= x \sqrt{x} \rightarrow \lim_{n \rightarrow \infty} x^{n-2m-1} x^{m+1} x^n = x \sqrt{x}$$

$$x^n = x \sqrt{x}$$

$$x^n = x \sqrt{x}$$

$$x^n = x \sqrt{x}$$

$$x^n = x \sqrt{x}$$

$$x^n = x \sqrt{x}$$

حق باقی توان که یای از 2 باشد و در نهایت به 2 می رسد و جواب است.

$$(f^{-1})'(x)$$

(1)

$$f(u) = x \rightarrow \frac{\sqrt{u+1}}{\sqrt{u-1}} = x \rightarrow \sqrt{u+1} = x\sqrt{u-1} \rightarrow \sqrt{u-1} = \frac{1}{x} \rightarrow u = 9$$

$$f'(u) = \frac{1}{2\sqrt{u}} \times \frac{-x}{(\sqrt{u-1})^2} \Big|_{u=9} \rightarrow \frac{1}{4} \times \frac{-2}{8} = -\frac{1}{16} \rightarrow (f^{-1})'(x) = -12$$

$$\frac{f(0) - f(-1)}{0 + 1} = -11 \rightarrow f(0) - f(-1) = -11 \rightarrow f(-1) = 12$$

(9)

$$f(-a+1) = 12 \rightarrow -a+1 = \frac{1}{p} \rightarrow a = -\frac{1}{p} \quad u = -2a = 1$$

$$3(u^2+1)^2 (2u) \left(\frac{1}{2u^2+1}\right) + (u^2+1)^3 \left(\frac{1}{u^2}\right)$$

$$3(u^2+1)^2 \times 2u \left(\frac{1}{2u^2+1}\right) + \frac{3(u^2+1)^3}{u^2}$$

$$3 \times 2 + -8 = 12 - 8 = 4$$

$$y = -\cos x \Rightarrow g(u) = \frac{f(\frac{\pi}{2}) - f(\frac{\pi}{4})}{g(\frac{\pi}{2}) - g(\frac{\pi}{4})} = \frac{1(-1) - 0}{1 - 0} = -1$$

(10)

نمودار تابع - 2x